
Social Security, Saving, and Capital Formation 

Much controversy has developed recently over 
capital formation and the claim that the eocial 
security system has reduced savings and a3 a reeult 
the potential for economic growth in this country. 
Concerned that there was much misunderstanding 
with respect to the subject, the Comm483ioner of 
Social Security asked the Ofice of Reeearch and 
Statietics to make a presentation to top-level stag 
to clarify the Concept, 8timUlate intelligent discus- 
eion, and place the issues in proper perspective. 

This article is based on the presentation made 
at the Executive Staff Meeting on April 18, 1975. 
To facilitate understanding of the issuea, the 
artmle begin8 with a discussion of the general 
nature of capital formation and it3 relationship to 
eavang and economic growth. The balance of the 
artzcle focusee on three questions: What (8 the 
impact of social security on saving? If 8ocial 8ecu- 
rity reduce8 satiing, is this necessarily bad? If it (8 
desirable to increase saving and economic growth, 
w-hat alternative policies can be coneidered? 

. . the OASDI system has affected the capital 
formation of the country and will continue to 
affect it in ways that are not clearly understood 
at this time . . . 

-Advisory Council on Social Security, 1976. 

IN RECENT MONTHS, editorials and scholarly 
articles have appeared criticizing the social secu- 
rity system for reducing saving and capital 
formation. This article presents a review of the 
relationship of social security to saving and capi- 
tal formation. The main concern is with the lm- 
pact of the social security program on saving 
and capital formation. Does social security reduce 
saving? If it does, is that bad? If it is bad, what 
should be done? These questions are addressed in 
the second part of the article. 

The issues can be discussed more easily if the 
general nature of capital formation and its rela- 
tionship to saving and economic growth are first 
understood. What is capital formation? How does 
it take place? What is its relationship to economic 
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growth? These basic concepts are discussed in the 
first section of the article. ’ 

CAPITAL FORMATION, SAVING, AND 

ECONOMIC GROWTH 

Capital formation plays a dual role in the 
economy. In the short run, capital formation is 
an important and volatile component of aggregate 
demand. In the long run, capital formation adds 
to productive capacity and contributes to economic 
growth. The focus here will be on the role of 
capital formation in increasing the productive 
capacity of the economy. 

What do we mean by capital and capital 

formation? 

Every society has limited productive resources 
-land, minerals, machines, buildings, workers of 
various skills-to satisfy its wants. These re- 
sources may be used to satisfy current wants by 
producing food, clothing, concerts, ball games, 
and similar goods and services. Alternatively, 
resources may be used to produce machinery, fac- 
tories or houses; to find mineral deposits; to build 
roads and dams; to educate and train workers; 
and to investigate scientific problems and develop 
new technologies- uses that do not satisfy current 
wants but do expand future consumption possi- 
bilities. 

In its broadest sense, capital formation is the 
use of resources to expand the productive capacity 
of the economy, including both physical capital- 
buildings, machines, roads, inventories-and in- 
tangible capital. The latter includes both human 
capital-individuals with their embodied knowl- 
edge and skills-and society’s accumulated stock 
of knowledge. 

There is a more limited view of capital for- 
mation that is reflected in most empirical studies 
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of capital formation. This narrower view excludes 
investment in human beings and, with the excep- 
tion of dwellings, household durables. Those con- 
ceptual frameworks that consider the output of 
government as consumption also exclude public 
capital-government buildings, dams, roads, etc. 

Under the narrower concept, capital consists 
of produced goods that are used as inputs in the 
productive process-factories, machinery, inven- 
tories, and dwellings. Net capital formation is 
the net addition to the capital stock after allow- 
ing for the using up of existing capital goods. 
For some purposes it is useful to refer to gross 
capital formation, which is the addition to capital 
stock before allowing for capital consumption.l 

In 1974, net capital formation was $89.4 billion, 
or 7.0 percent of net national product. Gross 
capital formation was $208.9 billion, 15.0 percent 
of gross national product. Because 1974 was a 
recession year, these proportions are somewhat 
below historical averages. 

RaaZ investment must 6e distinguished from 
finan&aZ investment. 

In economic analysis, “capital formation” and 
“investment” are, used synonomously and the 
terms are used’ here interchangeably. This point 
is stressed because in everyday language, “invest- 
ment” frequently refers to the accumulation of 
financial assets-such as stocks and bonds-or 
existing real assets-such as real estate or 
paintings. 

For the economy as a whole, the accumulation 
of financial assets does not represent an increase 
in real wealth. Every increase in financial assets 
held by one household or business is exactly 
offset by a reduction in financial assets held by, 
or increase in liabilities of, another economic unit. 
Similarly, the purchase of existing-that is, pre- 
viously produced-real assets represents transfer 
of ownership, not a net addition to the economy’s 
stock of real capital. In the use of the term here, 
investment refers only to reaZ capital formation- 
the current use of resources to produce new 
capital goods. 

‘Although net capital formation is often the preferred 
concept, empirical studies generally use gross capital 
formation. Estimates of gross capital formation are more 
accurate than those af net capital formation because it is 
very difficult to obtain reliable estimates of capital depre- 
ciation. 

Capital formation requires that society choose 

between present and future consumption 

At any point in time, the capital stock avail- 
able to a society consists of its accumulated inher- 
itance from past economic activity. To add to- 
or simply maintain-this capital stock, society 
must use part of its potential output for capital 
formation rather than present consumption. 

Capital formation requires that society choose 
between present and future consumption. That is, 
if labor and other resources are fully employed, 
and if we want to increase future output by pro- 
ducing capital goods, then we must forgo present 
consumption. Further, the more output we want 
in the future, the more resources we must devote 
to capital formation and the less to present con- 
sumption. The real cost of adding to the stock 
of capital to produce goods tomorrow is the 
sacrifice of consumption today. 

It is important to note that if there are un- 
employed productive resources, society does not 
have to give up current consumption to obtain 
more capital formation. That is, the unemployed 
labor, machinery, and other resources can be used 
to increase production of both consumer goods 
and capital goods. 

Every society must somehow choose between 
present and future consumption. In an economy 
such as ours, private capital formation-factories, 
machinery, houses, etc.-is essentially the result 
of individual decisions to save and invest, which 
are coordinated by a complex system of market 
institutions. Government policies-taxes, subsi- 
dies, regulations-have an important effect on 
those private decisions to save and invest. 

The problem of choice can be illustrated 
graphicalzy. 

If an economy is to increase its future consump- 
tion by devoting part of its productive resources 
to capital formation, consumption must be reduced 
in the present. This problem of choice may be illus- 
trated by the use of a “production possibility 
curve” (chart 1). 

Suppose that an economy may use its resources 
for either consumption or capital formation. If 
all resources are used to produce consumer goods, 
we may have 011 of consumption. If all resources 
are devoted to investment, we may have OE of 
capital formation. The curve ABCDE traces out 
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CHABT l.-Production possibilities of capital formation CHART 2.-Effect of capital formation on production 
vs consumption possibilities over time 

Capital 
Formation 

Capital 
Formation 

A 
Consumption 

all possible combinations of consumption and 
capital formation that the economy could produce 
on a normally sustained basis by using all land, 
labor, and capital equipment. Its curvature reflects 
the increasing opportunity cost of the alternative 
output and reflects the fact that resources are 
not perfectly substitutable in the production of 
consumer goods and capital goods. The graph 
shows clearly that increased capital formation is 
obtained only at the sacrifice of present consump- 
tion. It should be noted that, if resources are 
unemployed, and we ire at a point such as X, we 
can increase both consumption and capital for- 
mation. 

The problem of choice over time is brought 
out more clearly in chart 2, in which ABCDE 
again represents the production possibilities of 
period 1. If A is chosen, with all resources 
devoted to consumption, capital wears out and 
is not replaced. With less capital, the production 
possibilities for period 2 are only FG. Suppose 
that, if B is chosen, net capital formation is 
zero-we simply replace capital used up. Then 
the production possibilities for period 2 are iden- 
tical with those of period 1. Choices C and D 
represent positive capital formation. If C is 
chosen, HJ is possible in period 2 ; with D, it is 
KL. Clearly, the more potential consumption 
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wanted in period 2, the more consumption must 
be given up in period 1. 

How does capital formation take place? 

Capital formation requires resources-labor, 
machinery, materials-to produce capital goods. 
How do the producers of capital goods obtain 
these resources? 

Saving reZea8es resources-investment absor68 
resources. 

If individuals used all of their incomes for 
consumption, all productive resources would be 
involved in the production of consumer goods. 
However, individuals save part of their incomes. 
They save for a multitude of reasons-to provide 
for retirement, to leave an estate, to provide 
for emergencies, or simply to accumulate wealth. 
When individuals in the aggregate refrain from 
consuming, the resources that would be used to 
produce consumer goods are released. The re- 
sources released from consumer goods industries 
can then be shifted to the capital goods industries 
to produce factories, machines, etc. 

CapitaZ markets coordinate the saving-invest- 
ment process. 
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In some cases, the units that save are identical 
with those that invest. Independent businessmen 
save in order to finance investment. Corporations 
finance the purchase of capital goods by retaining 
earnings. In large measure, however, saving and 
investing are done by different units. That is, 
saving is done primarily by individuals and fami- 
lies; capital formation is carried on largely by 
business firms. 

The transfer of saving from individuals to 
business firms is coordinated by the capital mar- 
ket-a complex system of financial intermediaries 
dealing in a multitude of financial instruments, 
Individual savers may purchase new or old secu- 
rities, accumulate cash, pay debts, etc. In the 
aggregate, saving is used to purchase new securi- 
ties issued by business firms. The business firms 
that issue these new securities use the proceeds 
from their sale to purchase newly produced 
capital goods. 

What is the relationship between capital 
formation and economic growth? 

Capital-using production is indirect. To pro- 
duce automobiles, we need steel. To produce steel, 
we need blast furnaces and iron ore. To produce 
iron ore, we need mining equipment, etc. We must 
also educate and train workers so that they are 
capable of handling complex tasks, whether it is 
assembling an engine part, planning production 
schedules, engineering a new part, or designing 
a new plant. 

Roundabout processes need not be productive, 
as many a Rube Goldberg cartoon has shown. 
The empirical evidence provides strong support, 
however, that such processes are highly pro- 
ductive. 

Growth of oudput is related to growth of 
capital. 

If the American experience is examined in 
historical perspective, rising output is seen to be 
associated with a rising stock of capital. A study 
by Simon Kuznets of Harvard University2 shows 
that from 1869 to 1955, total capital (measured 
in 1929 dollars) increased from $36 billion to 
$649 billion, an increase of 40 percent per decade. 

‘Simon Kuznets, Capital in the American Economy, 
National Bureau of Economic Research, Oxford Uni- 
versity Press, 1961. 
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;;‘7$91.-Source of growth of potential total real output,1 

Percentage Percent 
Item points in 

growth rate 
of u$;th 

Increase in total output ___________._______.---.-- 3 41 loo 0 

Increase In total input ____________________________ 
Labor. adjusted for quality change ______________ 

Employment.........------------------------ 
Change in hours of work ________._____._______ 
Education...........------.------------------ 
Other factors _________._____.___.______________ 

Capital____________________--.---.-.---------- -- 

Increase of output per unit of input _______..______ 
Advances In knowledge _________________________ 
Economics of scale ______________________________ 
In&qed yource allocation ____________________ 

- --_ ___...-.____.-______------------.---. 

* Output is measured by national income. Potential output adjusts actual 
output for demand-related factors 

Source E. F. Denison, Accountmg for U.S Economic Growth, IQ%‘-1869, 
The Brookings Institution, 1974, table 9-4, page 127, and table 9-S, page 128. 

During the same period, capital per worker rose 
from $900 to $3,780, a growth of 16 percent per 
decade. 

Net national product in 1929 prices grew from 
$13.3 billion in 1869-88 to $149.8 billion in 1946- 
55, an increase of 39 percent per decade. Net 
national product per worker increased from $792 
per worker to $2,414 per worker during this 
period-an increase of 15 percent per decade. 

Growth cannot be accounted for simply by the 
quantitative increase in labor and capital. 

Economists have attempted to divide sources 
of growth into its components. Almost all these 
studies find that after accounting for growth 
in labor force and capital, there is an unexplained 
“residual.” This residual reflects increased output 
per unit of input and is largely attributed to 
technical progress. 

According to Edward Denison of the Brookings 
Institution,s the sources of growth of total U.S. 
output for 1929-69 are summarized in table 1. 
It is striking that the increase in capital input 
contributes only 15 percent of observed growth. 
The major sources are advances in knowledge 
(27 percent) and increases in education (12 per- 
cent). 

Table 2 provides a similar breakdown for 
output per employed person. Again, the contri- 

a Edward F. De&on, Accounting for United States 
Economzc Growth, 19294969, The Brookinga Institution, 
1974. See also The Sources of EconomZc Growth in the U.S. 
and the Alternatrves Before Us, Committee for Economic 
Development, 1962, and Why Growth Rates Differ, The 
Brookings Institution, 1967, by the same author. 

SOCIAL SECURITY 



TABLE 2.-Source of growth of potential real output * per 
person employed, 1929-69 

Item 
I I 

P;U$ta$e Percent 

growth rate Of %Fh 

Increase in output per employed person ___________ 

Increase In input per employed person ____________ 
Labor, adjusted for quality change ______________ 

Change in hours of work ___.__________________ 
Educatlon.--.--.....----.--------------~----- 
Other ________________________________________- 

Capital.. --_--------_----------------.---------. 
Land. ________ __ ____________ __ _ _____ ___ __ _ __ _ __. 

Increase in output per unit of input .______________ 
Advances In knowledge _____________.______--.-. 
Economics of scale ______________________________ 
Improved resource allocation ________ ___ __ _______ 
Other ____________________-------------.--------- 

1w 0 

4: s” 
-11 3 

21 0 

*I i 
-2 6 

79 5 
46 2 
17 9 
14 9 

5 

1 Output Is measured by national income 
output for demand-related factors 

Potential output adjusts actual 

Source E F. De&on, Accoanlinp for U S Economic Growth, 19294969, 
The Brookings Institution, 1974, table 9-7, page 136, and table 9-3, page 137. 

bution of capital input is less important than the 
increase in output per unit of input. 

The interpretation of these results is not un- 
ambiguous. Some economists argue that techno- 
logical change must be “embodied” in real capital 
goods. Human capital theorists also argue that 
technological change is embodied, but in human 

capital. Despite these controversies, it is clear 
that we must consider the growth of skills and 
knowledge as well as the accumulation of physi- 
cal capital in explaining the growth of output. 

The relationship between saving ratios and 
growth rates is tenuous. 

The discussion thus far may lead to the infer- 
ence that the rate at which an economy grows 
depends upon its saving ratio-the proportion 
of current income that the economy is able to 
save and invest. A recent editorial in the WaZZ 
Street Joumutl’ for example, suggests a strong 
relationship between productivity growth and the 
ratio of investment to total output. 

Panel A, chart 3, shows this relationship for 
seven major countries for the period 1950-62.5 

‘Wall Street Journal, February 20, 19’75. 
‘Data for all countries except Canada and Japan are 

from Edward F. Denison, Why Growth Rates Differ, The 
Brookings Institution, 1967. Data for Canada and Japan 
are from Long Term Economic Growth, 1860-1970, Bureau 
of Economic Analysis, 1973. 

CHART 3.-Growth of real output per worker and percent of gross national product invested 

Panel A Panel B 

Growth Rate of 
Output Per Worker 
(Percent Per Year) 
Q- 

Growth Rate of 
Output Per Worker 
(Percent Per Year) 

6- 

7- 

* Japan l Japan 

6- 

5- 
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0 
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0 
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4- 
Netherlands a 

3- 

2- U.S. 0 0 Canada 
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l- 

3 
Denmark w Belgium 
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U.K. 0 

o 
10 

I I I 
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Gross Fixed Investment (Percent of GY-P) 
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Gross Fixed Investment (Percent of GNP) 
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Source: E. F. De&on, Why Growth Rates Differ, and Bureau of Economic Analysis, Long Term Economic 
Growth, 1860-1970. 
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CHART 4.-Effect of increase in saving ratio on growth 
path 

Total 
output 

i 
Years 

There does appear to be a positive correlation 
between the growth of output per worker and the 
ratio of investment to output. In panel B a 
larger set of developed countries is considered. 
The relationship is now more diffuse.BJ 

At first thought this result may be surprising. 
Previous sections have emphasized the point that 
the growth of output is related to the proportion 
of resources devoted to capital formation. The 
observed weak relationship is not, however, in- 
consistent with our analysis. 

First, factors other than capital formation are 
important in determining the rate of growth of 
output. As noted in the Denison study, advances 
in knowledge, increases in education, and other 

‘For the seven countries, the correlation coefficient is 
58; for all 11 countries it is .36. 

‘In principle, the relevant growth rate is growth of 
total output; however, most comparisons use output per 
worker. h scatter diagram of growth of total output 
against the investment ratio shows the same patterns 
as those in chart 3. The correlation coefficient falls from 
.74 for the seven countries to .38 for all 11 countries. 

a 

factors are as important as the increase in capital 
in explaining growth of output for the United 
States. Similar results hold for other countries.* 
Second, in comparing countries it is necessary to 
consider differences in natural resource endow- 
ments, legal and political institutions, attitudes 
toward work and income, etc.8 Third, it can be 
shown that in the long run, the growth rate is 
independent of the proportion of output devoted 
to capital formation. 

Long-run growth rates are independent of LWV- 
ing ratios. 

The expected relationship-that growth rates 
depend upon the saving ratio-assumes that capi- 
tal-output ratios remain constant. As capital 
accumulation proceeds, however, output grows 
but not as rapidly as capital (other things being 
equal), and capital-output ratios tend to increase. 
This rise in capital output ratios slows down the 
rate of growth.lO 

It is true that an increase in the proportion of 
output devoted to investment raises the growth 
rate initially. As capital accumulation proceeds, 
however, the increase in the saving ratio raises 
the growth path but not the growth rate. 

This is depicted in chart 4. Suppose that out- 
put is growing on the path PP’. In year T, there 
is an increase in saving (decrease in consump- 
tion). Output begins to grow along QR but 
gradually approaches the path SS’. In the long 
run, growth rates are independent of the saving 
ratio. 

Growth generates saving. 
One of the puzzles that has fascinated econo- 

mists is the secular constancy of the ratio of 
aggregate saving to disposable income. As shown 
in chart 5, this ratio has fluctuated around an 
average value of approximately .08 since 1900. 
This contradicts earlier speculations that the 
saving ratio would increase as income grew. 

‘See Edward F. Denison, Why Growth Rates Difler, 
The Brookings Institution, 1967. 

‘In making cross-country comparisons, there are also 
differences in definitions, quality of data, periods covered, 
etc. It is doubtful that such differences are large enough 
to change our basic conclusion. 

lo The growth rate of total output may be shown to 
equal the saving ratio multiplied by the ratio of output 
to calntal (the reciprocal of the capital-output ratio). 
Assume, for esample, that the saving ratio is 0.1. If the 
capital-output ratio is 3 (the output-capital ratio is Xl), 
the growth rate is .033-Le., 33 percent per year. 
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CHART 5.-Personal saving as percent of disposable in- 
come 

Percent 

30 

World War II 

World War I 

01 I I I \I I I I I ( 

1900 1910 1920 1930’ 1940 1950 1960 1970 

Year 

There have been several explanations of this 
constancy. One of the most ingenious has been 
provided by Franc0 Modigliani of the Massachu- 
setts Institute of Technology.‘l This explanation 
is based on the life-cycle hypothesis of consump- 
tion, to be used later in the discussion of the 
impact of social security on saving. 

In its strictest version, the life-cycle hypothesis 
states that individuals save only to smooth out the 
stream of lifetime consumption. During their 
working lives, individuals save, increasing their 
wealth (savings deposits, securities, pension 
claims, etc.). After retirement, they dissave, 
drawing down wealth to maintain planned con- 
sumption. No estate is accumulated, nor is there 
saving for emergencies or other purposes. The 
resulting pattern of income, consumption, saving, 
and wealth accumulation is shown in chart 6. 
It is assumed that the individual enters the labor 
force at age 25, retires at age 65, and dies at 
age 80. 

Suppose that population is stationary and that 
productivity is constant. With a stable age dis- 
tribution of population, the saving of workers 

‘I See Franc0 Modigliani, “The Life Cycle Hypothesis 
of Saving, the Demand for Wealth and the Supply of 
Capital,” Social Research, No. 2, 1966. 

will be exactly offset by dissaving of retirees. In 
the aggregate, saving will be zero. 

If population is growing at a steady rate, there 
will also be a stable age distribution. In this case, 
the ratio of workers to retired persons will be 
higher than in the case of a stationary population. 

CHART B.--Life cycle patterns of income, consumption, 
and saving and of wealth 

Life Cycle Pattern of 
Income, Consumption, and Saving 

Dollars 
r year 

Age 
65 60 

Life Cycle Pattern of Wealth 

Dollars 

25 
Age 

65 60 
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Saving by workers will exceed dissaving by re- 
tirees. In the aggregate, saving will be positive 
and a constant ratio of aggregate income.12 The 
saving ratio will depend upon the rate of economic 
growth. 

SOCIAL SECURITY, SAVING, AND 

CAPITAL FORMATION 

The discussion now turns to the relationship 
of social security to saving and capital formation. 
Three general questions are considered. First, 
what is the impact of social security on saving? 
Second, assuming that social security reduces 
saving, is it desirable to increase saving? Third, 
if it is desirable to increase saving what alterna- 
tive policies can be considered? 

What is the impact of social security on saving? 

If the social security program were simply a 
“pay-as-you-go” tax-transfer system in which 
current workers did not consider anticipated bene- 
fits in making saving decisions, the analysis would 
be relatively simple .I3 The reduction in disposable 
income resulting from the payment of payroll 
taxes would lead workers to reduce both consump- 
tion and saving. The increase in disposable income 
resulting from benefits would lead the retired 
to increase consumption and saving. 

The effect on aggregate saving would depend 
upon the level of benefits (assumed equal to 
taxes) and the difference between the marginal 
propensities to consume’* of workers and bene- 
ficiaries. For example, in 19’73, old-age and sur- 
vivors insurance (OASI) benefits were approxi- 
mately $46 billion. Assume that workers’ pro- 
pensity to consume is .9 while that of beneficiaries 
is 1.0. Then the reduction of saving would be 
$4.6 billion, equal to the reduction in saving by 
workers. 

*A similar result is obtained if productivity is grow- 
ing at a constant rate. 

I8 Studies of the effect of social security on saving 
generally restrict consideration to retirement benefits. 
The analysis here is also limited to retirement benefits. 

“The marginal propensity to consume measures the 
proportion of additional income that is spent for con- 
sumption. 

Workers anticipate future benefits in their 
saving decisions. 

The problem is not that simple. Workers un- 
doubtedly do anticipate future benefits to some 
extent in making their spending-saving decisions. 
In the life-cycle model described earlier, if per- 
fect foresight and puid pro puo are assumed, 
personal saving would be reduced during work- 
life and dissaving correspondingly reduced during 
retirement.l” That is, the worker would view 
social security contributions as compulsory public 
saving and therefore a substitute for private 
saving. With current financing, payroll tax rev- 
enues are used to finance benefits and are not 
accumulated in a fund. Therefore, aggregate 
private saving would be reduced. 

What is the empirical evidence? 

Xome empirical evidence suggests that social 
security increases sav&g. 

As noted above, there has been no discernible 
downward trend in the percentage of income 
saved since the introduction of the social security 
program. Moreover, indirect evidence provided 
by two studies of the relationship between pri- 
vate pension coverage and saving behavior sug- 
gests that social security might have increased 
personal saving. 

A 1965 study by Phillip Cagan of Columbia 
University analyzed the saving behavior for 
1958-59 of more than 15,000 Consumer Reports 
subscribers.ls Cagan found that individuals cov- 
ered by pension plans saved more than those 
not c0vered.l’ He attributed his results to a 
“recognition effect” : participation in a pension 
plan calls attention to retirement needs and leads 
individuals to increase provision for retirement. 

In Recall, however, that for a stationary economy the 
life-cycle model would imply zero aggregate saving even 
without a social security system. The reduction in saving 
implied by the life-cycle hypothesis assumes that the 
economy is growing. 

I0 Phillip Cagan, The Eflect of Pension Plans on 
Aggregate Saving, National Bureau of Economic Re- 
search, 1965. 

“Cagan’s results have been criticized by Alicia 
Bunnell. See Alicia Munnell, The Effect of Social Secu- 
rity on Personal Saving, Ballinger, 1974 (study based on 
MS Munnell’s dissertation completed at Harvard Uni- 
versity and financed by a Social Security Administration 
grant). A summary of the study appears in the So&al 
Security Bulletin, November 1974, pages 2930. 
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A second 1965 study, by George Katona of the 
University of Michigan’s Survey Research Center, 
was based on personal interviews with approxi- 
mately 2,000 families in 196263.1s Like Cagan, 
Katona found that pension plans increase personal 
saving. Katona’s explanation was in terms of 
“goal feasibility” and “level of aspirations’- 
that pension plans made retirement goals feasible 
and that workers both raised their retirement in- 
come goals and intensified their saving effort. 

The explanat,ions offered by these studies imply 
that the individual’s preference for future vs. 
present. income is changed by participation in a 
pension plan. That is, as a result of participating 
in a pension plan, workers reduce consumption 
(and correspondingly increase saving) during 
their working years in order to finance increased 
consumption during retirement. These conclusions 
have generally been extended to social security. 

Recent studies suggest that the social security 
program reduces saving. 

Martin Feldstein of Harvard University has 
offered an alternative explanation of the empirical 
evidence consistent with the predictions of the 
life-cycle model .I9 Feldstein hypothesizes that the 
social security program has lowered the age of 
retirement. With a shortened period of earnings 
and longer retirement period, the worker would 
have to increase his saving rate. This would offset 
the reduction in saving resulting from the sub- 
stitution of anticipated retirement benefits for 
personal saving. The net effect on personal saving 
would depend upon the relative strength of these 
offsetting forces. 

An example may clarify his hypothesis. Assume 
that a worker enters the labor force at age 25, 
earns $10,000 per year, plans to retire at age 70, 
and expects to die at age 80. Suppose that he allo- 
cates his lifetime resources to provide a retirement 
income of $5,000 per year and plans to leave no 
estate. If the interest rate is 5 percent, he would 
have to save $242 per year-2.42 percent of his 
earnings-during his working life. 

Suppose now that he is promised a retirement 

Is George Katona, Private Pensions and Individual 
Savzn~, University of Michigan, Survey Research Center, 
1965 

ID Martin Feldstein, “Social Security, Induced Retire- 
ment, and Aggregate Capital Accumulation,” JournaE of 
Political Economy, September-October 1974. 

benefit of $2,500 per year. With no change in 
preferences, he would reduce his saving by half, 
saving $121, or 1.21 percent of his income, per 
year. Suppose, however, that he is required or 
induced to retire earlier, say at age 65. Then, to 
maintain the same retirement income, he would 
have to save $215 per year, or 2.15 percent of his 
earnings.2o Thus, the increase in saving resulting 
from a shorter work-life tends to offset the re- 
duction in saving resulting from substitution of 
the anticipated benefit for private saving. 

The model used by Feldstein to estimate the 
effect of social security on saving is an aggregate 
consumption function based on the life-cycle 
hypothesis. Consumer expenditures are assumed 
to depend upon permanent incomezl and wealth. 
Wealth is divided into two components-house- 
hold assets and estimated social security wealth. 
Social security wealth is constructed by assuming 
the growth path of benefits and discounting to 
the present, taking survival probabilities into 
account. In 1971, Feldstein’s estimate of social 
security wealth was $2,029 billion, 60 percent of 
other household assets. 

The Feldstein study estimates the relationship 
using aggregate U.S. data for the period 1929-71. 
The results may be approximated by the follow- 
ing equation : 

6’ = .650 YDP + .014 EW + .021 SSW 
where C is consumer expenditures, YDP is per- 
manent disposable income, 2ZW is household 
wealth, and &S’W is estimated social security 
wealth.22 The interpretation of these results is 
that if, for example, social security wealth in- 
creases by $100 billion, consumer expenditures will 
increase by $2.1 billion per year (or, alternatively, 
personal saving will decrease by $2.1 billion). 

From these results, Feldstein infers that social 
security has substantially reduced saving, capital 

“The example abstracts from changes in the preferred 
life-cycle distribution of consumption and assumes that 
the worker still will seek to maintain retirement income 
of 50 percent of earnings. 

a Permanent income is an estimate of expected average 
lifetime income. 

=The equation actually estimated was C = 228 + 
.530 YD + .120 YD-1 + ,356 RE + .014 HW + .021 b’fi‘W 
where YDcl is lagged disposable income and RE is 
corporate retained earnings. The latter is a proxy for 
the permanent component of capital gains. The method 
of estimation used was ordinary least squares. The 
regression coefficients pass standard statistical signifl- 
cance tests. 
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formation, and output. He estimates that aggre- 
gate personal saving has been halved by social 
security and that total private saving has been 
reduced by 38 percent. In the long run, the private 
capital stock would also decrease by 38 percent, 
reflecting the decline in the rate of private 
saving. 

This reduction in private capital formation 
implies a substantial reduction in GNP. Feldstein 
estimates that GNP would be 15 percent higher 
in the absence of social security. 

Feldstein’s results must be validated. 

Feldstein’s work has raised important issues; 
however, his results must be viewed with caution. 
A few points deserve particular attention. 

First, the values and statistical reliability of 
key regression coefficients of his estimated rela- 
tionship are sensitive to both-the specification of 
the model and the period of estimation. One 
must be cautious in basing estimates of the reduc- 
tion in saving on regression coefficients whose 
value and reliability is suspect. 

Second, the social security wealth variable may 
be a proxy for changes that have occurred during 
the period since the introduction of social security. 
Unemployment compensation, private pensions, 
health insurance, and other income security pro- 
grams have been greatly expanded. There has 
been an increase in the ratio of the dependent 
population-young and old-to the working popu- 
lation. Expenditures for education have increased 
substantially. (Such expenditures are included in 
consumer expenditures; in the broad sense, how- 
ever, they represent capital formation.) It is 
likely that these changes have influenced saving 
behavior. 

Third, the construction of the key variable, 
social security wealth, depends upon a particular 
set of assumptions about how workers perceive 
the present value of future benefits. Alternative 
assumptions would yield different wealth series 
and may well lead to different conclusions. 

Professor Feldstein has raised an important 
issue. His estimates of the impact of social 
security on saving may be correct, although the 
authors suspect that they are high. Further re- 
search is necessary to test the validity of his 
conclusions and to refine the estimates of the 
magnitude of the effect on saving. 

Is there too little saving? 

Suppose that we accept the hypothesis that 
social security reduces saving. Is this necessarily 
bad ? 

The rate of growth depends on society’s choice. 

As noted earlier, a higher rate of capital for- 
mation is achieved at the sacrifice of present 
consumption. Thus, the desirability of growth 
turns on the desirability of sacrificing present 
consumption for the benefit of future generations. 

Arguments can be made for such sacrifice. 
Since our consumption derives from the capital 
endowment of past generations, there is equity 
in making similar sacrifices on behalf of future 
generations. Some of us will live to enjoy this 
increased future consumption. On the other hand, 
since it is likely that succeeding generations will 
be richer than we are, is it necessary to make 
additional sacrifices on their behalf? The difficult 
question is how do we weigh the claims of the 
future against the claims of the present. 

There is a related problem. If we decide that 
current consumption should be reduced to increase 
capital formation, the question arises: whose 
consumption should be reduced? In the context 
of the social security system, for example, the 
alternatives might be to reduce the consumption 
of workers or the consumption of beneficiaries. 

The existence of such alternatives may give 
rise to conflicting goals. If workers are unwilling 
to sacrifice present consumption for the benefit 
of the future, then the burden must fall on the 
retired. If we are committed to supporting the 
aged, this solution is unsatisfactory. We may 
prefer to accept a lower growth path in order to 
maintain transfers to the aged. Thus, even if we 
accept the conclusion that capital formation and 
potential output have been reduced by social 
security, we may agree that this growth path is 
preferred. 

Is there a shortage df capital? 

Concern about the impact of social security 
on saving is associated with the belief that there 
is a shortage of capital. Several recent studies 
have projected a chronic shortage of investment 
funds over the next decade and concluded that 
a large increase in saving is required. 
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CHART 7.-Genuine and nominal after-tax rates of return 
on nonfinancial corporate capital, 1948-73 
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Source: William D. Nordhaus, The FaZlQg .&hare of 
Profit8 (Brooking8 Papers on Economic Activity, No. l), 
The Brookings Institution, 1974. 

In a recent Newsweek column,23 Paul Samuel- 
son of the Massachusetts Institute of Technology 
disputes the capital shortage thesis. If we mean 
by “shortage” that investment demand is in- 
creasing relative to the supply of saving, then 
the yield on capital before and after taxes should 
be rising. A recent study by William Nordhaus 
of Yale University finds, however, that real 
yields have been falling in recent years?* Nord- 
haus finds that after correction for inflation gains, 
the after-tax rate of return has fallen from above 
8 percent in the mid-1960’s to 5-6 percent in the 
19’70’s (chart 7). 

A recent Joint Economic Committee Report 
provides a balanced review of the issue and con- 
cludes that there are no present 
alarm about long-term projections 
shortage.26 

grounds for 
of a capital 

“Newsweek, August 26, 1974. 
” William Nordhaus, “The Falling Share of Profits,” 

Brooking8 Papers on Economic Actfvity, No. 1, 1974. 
as AchZcving Price Xtability Through Economk Growth, 

Report of the Joint Economic Committee, U.S. Congress, 
December 30, 1974, pages 93-99. 
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What are the alternatives? 

Suppose that we agree that social security re- 
duces saving and that this reduction in capital 
formation is undesirable. The effect on saving 
of two alternatives-first, phasing out social secu- 
rity, and second, full or partial funding-will 
be considered. 

Phasing out the system G an unrealistic a&W- 
Tlutizre. 

Milton Friedman of the University of Chicago 
has proposed phasing out the present system and 
replacing it with a negative income tax.2e Al- 
though this alternative is unlikely, it is useful 
to consider its implications. In a lucid article,*’ 
Edgar Browning of the University of Virginia 
argues that it is always to the interest of current 
workers to maintain the existing system. That is, 
the generation of beneficiaries must be supported 
by current workers whether or not they receive 
future benefits. Thus, workers are better off if 
the social security system is maintained. 

An income-conditioned transfer system-such 
as a negative income tax or supplemental security 
income (SSI)-would also create disincentives 
to save, particularly for low earners. That is, 
the receipt of property income resulting from 
saving would reduce the amount of the transfer. 
This effect would be even stronger if there were 
an asset test such as that for the SSI program, 

Funding the SO&-AZ security system would a&o 
create problems. 

Since the system’s beginning, there have been 
some proponents of full or partial funding.28 Is 
such funding a viable solution? 

WilZ current workers pay higher taxes to 
create a funded system? 

The initiation of full funding at this point 

po See, for example, Wilbur Cohen and Milton Friedman, 
i3ocial Security: Un(versal or Selectivef, American Enter- 
prlse Institute for Public Policy Research, c. 1972. 

m Edgar Browning, “Social Insurance and Intergenera- 
tional Transfers,” Journal of Law and Economica, Octo- 
ber 1973. 

“Recently, Martin Feldstein has made the radical 
proposal of creating an “endowment fund,” that is, a 
fund large enough to pay all beneflts in perpetuity with 
no payroll tax. See Martin Feldstein, The Optimul Ff- 
nancZng of So&Z Recur@, (Discussion Paper No. 388), 
Harvard Institute of Economic Research, November 1974. 



in the system’s history would be particularly 
difficult. Creating a funded system would require 
a tax rate larger than that required to maintain 
current financing, The recent Advisory Council 
Report states that a combined OASDI employer- 
employee tax of 10.9 percent will be required 
for 1976-79.*g Thus, establishing a funded system 
would require a combined tax above this level. 
Such an increase would reduce the effective return 
for current workers and would undoubtedly lead 
to further complaints about the “burden” of the 
social security system. 

Can government carry out the necessary 
policies? 

An increase in social security taxes would 
shift the budget in the direction of a surplus, 
increasing total saving in the economy. However, 
increased saving will lead to a corresponding 
increase in capital formation only under condi- 
tions of full employment. To channel this saving 
into investment while maintaining aggregate 
demand at the full employment level, policy 
actions by the Government would be required. 
For example, an easing of monetary policy by 
the Federal Reserve could be used to lower in- 
terest rates, inducing business firms to invest. 
in plant and equipment. 

The ability of the Government to carry out 
the necessary policies is subject to debate. The 
historical evidence suggests that policies to simul- 
taneously increase capital formation and maintain 
aggregate demand were not available in the early 
history of the social security system. It seems 
likely that increased fund accumulation in the 
pre-World War II period would have further 
reduced aggregate demand. Such reduction in 
aggregate demand during World War II would 
have been desirable, but it is unlikely that addi- 
tional capital formation would have resulted. 
The evidence in the decade following World War 
II suggests that the role of fiscal and monetary 
policy in stabilizing the economy was not well 
understood. 

Creation of a funded system within the context 
of the present recessionary economic environment 

m Reports of the Quadrenmal Advisory Council on 
Social Securzty, House Document No. W75, U.S. Gov- 
ernment Printing Office, 1975 (Transmitted to the Con- 
gress, March 7, 1975.) 

would be unproductive. An increase in payroll 
taxes would reduce disposable income and thus 
reduce consumer expenditures. This reduction in 
aggregate demand would lead to reduced output 
and higher unemployment. 

The Government could pursue policies designed 
to o&et the deflationary effect of such an increase 
in payroll taxes-for example, by lowering per- 
sonal income taxes. Such an action would, how- 
ever, also nullify the effect on aggregate saving. 
That is, since the increase in payroll taxes and 
decrease in personal incomes taxes would be 
approximately equal, both the Government sur- 
plus and aggregate saving in the economy would 
be approximately unchanged. The nominal in- 
crease in the trust, fund would not lead to real 
capital formation. 

In‘ addition, with unemployed resources, in- 
creased saving is not essential for capital forma- 
tion. It is not necessary to sacrifice consumption 
for investment. Policies can be pursued to increase 
both capital formation and consumption. For 
example, investment can be increased by liberaliz- 
ing the investment tax credit or easing monetary 
policy. This would expand capital formation and 
output. The problem with such policies is, of 
course, that they might also put upward pressure 
on prices.so 

Investing the fund would be difficult. 
One of the early decisions with respect to social 

security financing was to restrict investment of 
the social security trust fund to United States 
securities. With this restriction, creation of a 
sizable fund would be difficult. Total U.S. securi- 
ties outstanding at the end of 1974 were $493 
billion. Thus, even if the old-age and survivors 
insurance trust fund held all outstanding U.S. 
securities, this amount would be considerably less 
than the estimated “unfunded liability” of the 
system.sl 

HOW are the additional securities required for 
a funded system to be obtained? Unless the 

“It should be noted that the creation of a sizable 
trust fund is independent of the question of the use of 
the social security program for fiscal policy purposes. 
It is possible to change social security taxes to stabilize 
the economy either with current-cost financing or full- 
reserve financing. 

*I Estimates of the unfunded liability range from $1 
trillion to $2 trillion depending upon the concept and 
underlying assumptions. 
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system can purchase private securities-a solu- 
tion that raises complex issues-difficult fiscal 
problems are created. To issue the securities that 
the old-age and survivors insurance trust fund 
would need to purchase, the Treasury would have 
to increase its spending or reduce other taxes. 
Additional spending would increase future output 
only if devoted to public capital formation. If 
other taxes were reduced, we would in effect be 
substituting the payroll tax for general revenues 
in financing Government consumption expendi- 
tures. The effect on private saving would depend 
upon the differential impact on saving of the 
payroll tax as opposed to other Federal taxes. 

A large fund might humper monetary policy. 

One of the most important instruments of 
monetary policy consists of Federal Reserve sale 
and purchase of U.S. securities. Clearly, such 
open-market operations require that Federal 
Reserve banks, commercial banks, and individuals 
hold such securities. If the development of a 
funded system resulted in the social security 
trust funds owning all U.S. securities, open- 
market operations would be impossible (unless 
other financial instruments are used). This would 
severely limit the use of monetary policy for 
purposes of stabilization and growth. 

There are alternative approaches to increasing 
growth 

Suppose that there is a conscious Government 
policy objective to increase the rate of growth. 
This does not require that the social security 
system should be the instrument of such growth 
policy. 

It has been pointed out that the use of the 
social security system to create additional saving 
requires simultaneous fiscal or monetary measures 
to effect an increase in investment. This suggests 
that such measures could be undertaken while 
current cost financing is maintained. A Govern- 
ment surplus could be created or increased by 
increasing personal income taxes. Private invest- 
ment could be stimulated by the use of investment 
tax credits or accelerated depreciation. Human 
capital formation could be accelerated by expendi- 
tures on education, health, and research and 
development. 

Thus, a number of alternative approaches- 
including funding the social security system- 
exist to increase economic growth. The chbice 
of policy depends upon the effectiveness of each 
policy in increasing growth as well as other 
objectives, such as the impact on the distribution 
of income and wealth and the maintenance of 
economic stability. 
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